F b ¥ —5xta, 227 — by - 12 9] FE 147k x-3 ol P

o, a+b ] G227

@ 2 @ 4 ® 7 @)8 ® 9

=-2 . a=(-3)x(-2)=6

w7 E 354 47} v -3 olmE

2x2 —bx—12= (x—3)(2x+m) = 2x> + (m - 6)x — 3m
m—-6=-b, —3m=-12

m=4 . b=6-4=2

“a+b=6+2=38




2. B4+x2-9x-9 & JLES) s HY

(x+a)(x+b)(x+c) 7t =E YT olwf a+ b+ ¢ 9] FE2?

O @ 2 ® 3 @ 4 ® 5

B

x(x? = 9) + (x* - 9) = (x* - 9)(x +1)

=(x+3)(x=3)(x+1)
Wat a=3,b=-3,c=1022
a+b+c=10°|th




3.

o
o

= A< B =5
TOVL‘l /l]n ?__TT':OH%H

@ 3x% 4 18x+27 = 3(x+[ )2

@ 9x2 - 24x +16 = (__|x—4)?

@ 222 -72=2(x+6)(x-2x[ )
@ 6x2-17x+12 = (2x—-[ (3x-4)

@x2 -20x+91 = (x—7)(x—D)

B

o, §1 2ol &

@® 3(x®2 +6x+9) =3(x+3)?
[ ]=3

@ (3x-4)?

[ ]=3

® 2(x* - 36) = 2(x + 6)(x — 6)
2x[ |=6, ~[ ]=3

@ (2x-3)(3x—4)

[ ]=3

® (x=T7)(x-13)

[ ]=13




4. oA ax?-Tx+b7F (2x-1) ¢ (3x-2) EJATZ 7MW, ab 9]
= kY

® 4 @ 7 @2 o1 o1

(2x—1)(3x—2) = 6x% — Tx + 2
=ax>-Tx+b

La=06,b=2

Soab =12




O|ZFA X% + ax + b B A ot 2 x T AFE
B (x+4)(x-7) 2&2 QJAF4ES) ol S2 AT EX B
(x=2)(x-10) 2 &2 QI5Hal stglet. o] wl, a — b 9] 27
@ 10 @ 12 ®)16 @ 18 ® 20
B ~
Zro] E o] A2 (x+4)(x—7) O] B2 x2 - 3x—28 0|1,
x FO ASE AR Hepong AFpghe 98 ot}
go] &F o]ZAL (x-2)(x—10) O]E& x2 - 12x + 20 °] L,
Ao ZF Hokong x o] A4E ~12 o|th
a=-12, b=-28
a-b=-12-(-28) =16




(e~ 2)? - 1802 — x) + 728 LAY Fo2 ekl v, U7

Ngo G

@ 9 @ 2x+3 ® x+3

@)4x ~2 ® 2(x-3)

a2+ (x=3)+(x+3)+(x—4)=4x-2




7.

(x=1D)(x-2)(x+1)(x+2) - 10 A5E3sHA?

O (2-1)(x2=6) @) (2 +1)(x*-6)
® (x>-1)(x*>+6) @ (2+1)(x2+6

® (x?-1)(x*-5)

(2—1)(2-4)-10 = x* —5x2 +4-10
=x*-5x>-6
= (x2+1)(x*>-6)




x% = dxy + 4y? - 22 & AgEolot=d AHEH SRSl
)

T2 (Fa>0,b>0

® a* +2ab + b = (a + b)?
@)a? - 2ab + b? = (a - b)?
@)a?-1* = (a+b)(a-b)
@ x>+ (a+b)x+ab=(x+a)(x+b)

® acx® + (ad + be)x + bd = (ax + b)(cx + d)

x2 —4dxy + 4y% - 22
=(x-2y)2-2> = a®-2ab +b* = (a-b)?
= (x=2y+2)(x~2y-2) a’ - b* = (a + b)(a~b)




9. x®42xy+y?-b5x-5yE AS5EASHH?

@ (x+y)(x+y-5) @ (x+y)(x+y-10)
® (x-y)(x+y-5) @ (x-y)(x-y-5)

® (x+y)(x-y+10)

‘ (x+y)?=5(x+y) = (x+y)(x+y-5)




10. V8IXO9T+1=10xx2 < o, x 9] Zte?

D =3 @i3 @ 9 @ =+18

V(O0-1)(90+1)+ 1= V902-1+1=90
10x2 =90

SLox==3




